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1 B2 36 43 79 10.8 68.2 8
2 A Bx 36 48 84 14.4 69.6 8
3 FE HkE 41 36 77 7.2 69.8 8
4 Il EF 46 36 82 12 70 B
5 BE gt 36 46 82 12 70 8
6 fax &= 36 39 75 4.8 70.2 B
7 EHE IS 36 45 81 10.8 70.2 8
8 M4 fE 43 36 79 8.4 70.6 8
9 HE Rt 36 42 78 7.2 70.8 8
10 B ZFEX 42 36 78 7.2 70.8 8
11 T RIE 36 48 84 13.2 70.8 8
12 | =L {E—EB 35 36 71 0 71 B
13 a2H X 36 47 83 12 71 8
14 &F ia 36 40 76 4.8 71.2 B
15 i &% 36 40 76 4.8 71.2 8
16 BE  EM 39 36 75 3.6 71.4 8
17 =ARAARE 45 36 81 9.6 71.4 8
18 | k4K K# 38 36 74 2.4 71.6 8
19 IR 8K 36 44 80 8.4 71.6 8
20 #E Ri- 36 50 86 14.4 71.6 8
21 Hb RE 43 36 79 7.2 71.8 8
22 A B— 43 36 79 7.2 71.8 8
23 MER =iE 36 43 79 7.2 71.8 8
24 E = 36 42 78 6 72 8
25 Mk EE 36 48 84 12 72 8
26 B A 36 41 77 4.8 72.2 8
27 Bl EXR 36 41 77 4.8 72.2 8
28 & AR 36 39 75 2.4 72.6 1=k
29 =0 &5 45 36 81 8.4 72.6 8
30 E S IPAN: 45 36 81 8.4 72.6 8

31 trite IEfE 36 45 81 8.4 72.6
32 FIE & 51 36 87 14.4 72.6
33 =25 A#f 36 38 74 1.2 72.8 RE
34 A0 EE 38 36 74 1.2 72.8
35 HE EE 36 43 79 6 73 RE




36 THE 2 43 36 79 6 73

37 =il BE 36 43 79 6 73

38 FeEA  fR— 36 43 79 6 73 RE
39 FE &= 49 36 85 12 73

40 A% BA 36 49 85 12 73 RE
41 WEART 36 55 91 18 73

42 gR E= 48 36 84 10.8 73.2

43 TR AB 36 48 84 10.8 73.2 RE
44 B EA 36 47 83 9.6 73.4

45 287 #A 40 36 76 2.4 73.6 RE
46 2H ER 46 36 82 8.4 73.6

47 H = 45 36 81 7.2 73.8

48 & Bx 36 51 87 13.2 73.8 RE
49 EE KiE 36 51 87 13.2 73.8

50 a8 B 36 50 86 12 74 RE
51 thE B 43 36 79 4.8 74.2

52 KT =Eq 49 36 85 10.8 74.2

53 | ®id FB—EB 36 49 85 10.8 74.2 RE
54 FNl EBE— 36 48 84 9.6 74.4

55 =i 1EF 36 54 90 15.6 74.4 RE
56 &N = 36 47 83 8.4 74.6

57 BE =R 59 36 95 20.4 74.6

58 AT #=E 46 36 82 7.2 74.8 RE
59 M Bz 46 36 82 7.2 74.8

60 Nif #x 52 36 88 13.2 74.8 RE
61 (V1T b 52 36 88 13.2 74.8

62 itk H& 39 36 75 0 75

63 Wl B 36 51 87 12 75 RE
64 M RE 51 36 87 12 75

65 %E T 36 44 80 4.8 75.2 RE
66 LIES) 2 44 36 80 4.8 75.2

67 AR B 50 36 86 10.8 75.2

68 TR fE 50 36 86 10.8 75.2 RE
69 hE E— 36 49 85 9.6 75.4

70 &/E == 61 36 97 21.6 75.4 RE
71 mE (R 48 36 84 8.4 75.6

72 HE B 48 36 84 8.4 75.6

73 R IE— 36 48 84 8.4 75.6 RE
74 HE = 36 47 83 7.2 75.8




75 =i 1Es 53 36 89 13.2 75.8 RE
76 | By =& 36 59 95 19.2 75.8
77 mE dx 58 36 94 18 76
78 RiE B2 49 36 85 8.4 76.6 RE
79 tiE |A 49 36 85 8.4 76.6
80 pEY:c J 36 55 91 14.4 76.6 rRE
81 2@ EX£ 54 36 90 13.2 76.8
82 B —F 36 59 95 18 77
83 XIR IEL# 52 36 88 10.8 717.2 RE
84 ®il &2 51 36 87 9.6 17.4
85 8 {£% 56 36 92 14.4 77.6 RE
86 Hr 53 36 48 84 6 78
87 TE =R 54 36 90 12 78
88 hE i 59 36 95 16.8 78.2 RE
89 = fxE 59 36 95 16.8 78.2
90 = JEth 36 55 91 12 79 RE
91 EAR IE 59 36 95 15.6 79.4
92 Bg  HE 56 36 92 12 80
93 FilE fElE 61 36 97 15.6 81.4 RE
94 EH K& 65 36 101 19.2 81.8
95 BA EE 58 36 94 12 82 RE
96 ME K 76 36 112 25.2 86.8 BBE
97 25 REB 72 36 108 18 90
98 FH KA 81 36 117 24 93 RRIVE
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